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How did the school end up in this enrolment situation? 
 

Category A Schools Category B Schools Category C Schools 

 

There has been rapid growth in school-aged 
population in these school catchments in 
recent years. 

The school no longer has the physical 
capacity to accommodate as many in-
catchment students as likely want to attend 
there. 

 

 

There has been rapid growth in school-aged 
population in these school catchments in 
recent years. 

The school is at or approaching its physical 
capacity. It may not be able to 
accommodate a small number of the 
students who want to attend there. 

 

 

The school continues to have the 
physical capacity to accommodate all 
in-catchment students who would like 
to attend. 

 
  






